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Question 12 

Carry out the following integrations to the answers given. 

1. ( )
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44
dx

x x

= −
−∫ ,   use 2cosx θ=  
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dx

x x

= −
−∫ , use secx θ=  
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dx

x

π
= +

+∫ , use tanx θ=  
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4. 
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dx

x

π
=

−∫ ,   use 
3

sin
2

x θ=  
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dx

x

=

+∫ ,   use 
1

tan
3

x θ=  

 

 

6. 
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dx

x

π
=

−∫ , use 2 sinx θ=  

 

 

7. 
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dx

x

π
=

+∫ ,   use 
3

tan
2

x θ=  

 

 



Created by T. Madas 
 

Created by T. Madas 

8. 
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dx

x

=

−
∫ ,   use 2sinx θ=  

 

 

9. 
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dx

x

π
=

−∫  , use 
2

sin
3

x θ=  

 

 

10. 
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1 12

x
dx

x

π
= − −

+∫ ,   use tanx θ=  
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11. 
( )

3

2
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0

27 1

8 49
dx

x

π
= +

+∫ , use 3tanx θ=  

 

 

12. 

2 2

2

1
3 1
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x
dx

x

π−
= − −∫ , use cosecx θ=  

 


